In fluid mechanics, we learned about open channel flow and measurement devices, such
as the orifice plate, the Venturi meter, flow nozzles, and more. Open channel flow is classified
into uniform or varied open-channel flows, as well as steady or unsteady. We use the hydraulic
radius to calculate the Reynold’s Number for open channels to determine the type of flow we
are dealing with. We may also calculate the Froude number to find our flow’s criticality.
Hydraulic jumps are also discussed and we calculate the energy loss in the jump as well. In the
next chapter, we learn about the needed tools in order to measure qualities of our fluids such as
flow rate and velocity (though velocity is rarely required in industry). Orifice meters are simply
a plate with a certain shape hole cut into it, while variable head meters such as the Venturi
Meter are more elaborate. Both require Bernoulli’s equation to calculate the properties at that
point in the fluid. We went over how to perform the requisite calculations to design these

instruments.
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14.6 Compute the_hydraulic radius for the section shown in |-=ig. P1 4.E|Q if water flows ét a depth of 2.0 in. The section is that of a rain
gutter for a house.

Figure P14.6
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